2_4 MI%( 0. 22607)

TSI} w/SEHEIAY 7 [EA}

S7I4= 80kg/er, & 500°COllA S| 812.2kcal/kgel E71S E{HI0NA ARSI 2421 0.05kg/crt
(RE 3257, HEH| 492kcal/kg)2| E4=710i| W75k, CHA| 32.55kcal/kgel HIETE ZH= 22 HiY
OlM EHel2ofl 2512 42 0 W7l Al0IZe| E@SE2 AUnjel7|? &, 0|24 0] uje| 712 AIZ
HollMel gs 21} H|mstofat,

= 2 2AE OIS, 71%E 28 7 & gl a-olu Alet 52 A
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3
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1. 7 olE(Rankine Cycle)?] 882 the

2t

P = (ig-ip)=(is=i3) . Iy-I
' (i1~i3)_(14_13) I3

0471M j,=812.2kcal/kg, i,= 492kcal/kg, i=32.55kcal/kg

= ARSI

(2 kA,

o

X100 [%]

812.2-492
I = e X1
812.2-32.55

320.2

:m :4107[@]

2. 29, e 2% ApololA $aloj Fhm:

Aolze] Wmae Tzt 2

T,
=(1- ==)X100
n =( T)

1
o471 M, T,= 500 + 273 = 773 [K]
T,= 325+ 273 = 3055 K] o|ct.
305.5
n=(1-

X = 9
=73 )X100=60.47[%)]

(ED) 7[2Al0|2
72 A0|Z(Camnot Cycle)2 0JAEQI 71H(TRE)AI0IZ2A
O 29t 20| 279 S2HFHLT T UKSH MEHOf|A] Rx*ﬂf
UO| MZ HH[2iSl= HE)Qt 2719| S Qoo &

20| W = AE3H HE)Z OIROKIT YoM, BE Ajol2

S0l 29| & °§ LIEI= AtOI20|C,

1 S238
o

(Y= olgsh=
%)

T2
5295

s Hoenrg
“  grddngrg

(218 2 sl
)

s
(33 2] FI2=A0IEe] M

9F_L:M0|3° ST YEHR| 2P UEY AR0l=
M2 SA0IZ S 71 E==0] £2 MOI20Ch 2L, 0| &
N =gl P‘*OH U= S2YE HEUFO| & 1Y 2
5P| &fBi5 | 0242 X0|22 0| BAIZ0| A83HE TR
= XOICE T O[22 Ol AOIES 7Fgete=i E7i
29| 45 Bi=E ¢ 4 e ol === P Utk

S22 Ch3at 20| LIEFHCE

o =

gelFof thoto ot A Q, _. Tp o
n= L 1= —= =1——= [%]
ETon_I- = Q1 T1
Ao
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